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QUESTION 1

What is the EOS command that allows Arista switches with Multi-switch CLI enabled to send interactive commands to
multiple switches at once? 

A. xmpp group 

B. xmpp send switch-group 

C. xmpp session  

D. xmpp session-name  

Correct Answer: C 

Reference: https://www.arista.com/en/um-eos-4172f/eos-section-2-5-session-management-commands 

 

QUESTION 2

Which of the following Tap Aggregation command sessions are correct? 

A. B. C. D. 

Correct Answer: A 

 

 

QUESTION 3
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Given the following output, what can you determine about Ethernet13? 

A. Ethernet13 has a QSFP interface 

B. Ethernet13 has a QSFP+interface 

C. Ethernet13 is an Agile Port 

D. Ethernet13 has a hardware error that is causing it to misreport its connection speed. 

Correct Answer: C 

 

QUESTION 4

What happens to all of the Ethernet interfaces on an Arista switch when you enable Tap Aggregation mode exclusive? 

A. They all become up/up regardless of physical link detection. 

B. All the link lights turn green. 

C. They all become err-disabled. 

D. All the link lights start blinking at five blinks per second. 

Correct Answer: C 

 

Reference: https://www.arista.com/en/um-eos/eos-section-18-3-tap-aggregation-configuration 

 

QUESTION 5

Which of the following EOS features might alleviate the need for screen-scraping in your scripts? 

A. The linux screen command 

B. LANZ 

C. eAPI 

D. Python 

Correct Answer: C 
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